

	BID TABULATION 2019 MANHOLE REHABILITATION CITY OF ST. CHARLES															
				<b>ENGINEER':</b> 52 Whee Sugar Grov		KIM CONSTRUCTION 3142 Holeman Steger, IL 60475		NATIONAL POWER RODDING CORP. 2500 W. Arthington Street Chicago, IL 60612		FRONT RANGE ENVIRONMENTAL LLC 2110 Wright Road McHenry, IL 60050			RMS UTILITY SERVICES 72 East Street Crystal Lake, IL 60014		CURLY CONTRACTING ,LLC 5 Industrial Park Drive, P.O.Box 29 Winchester, IN 47394	
ΓΕΜ NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT (INITIAL BID)	AMOUNT (CORRECTED)	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Т	A: BASE BID ITEMS	1.0104		<b>#5.000.00</b>	<b>45.000.00</b>	#44.000.00	<b>#44.000.00</b>	<b>A40.000.00</b>	<b>#40.000.00</b>	#0.500.00	40.500.00	40.500.00	<b>#0.500.00</b>	Φο 500 00	<b>#40.500.00</b>	<b>*</b> 40 500 00
1	MOBILIZATION, INCLUDING PERFORMANCE AND PAYMENT BONDS	LSUM	1	\$5,000.00	\$5,000.00	\$11,000.00	\$11,000.00	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00	\$2,500.00	\$8,500.00	\$8,500.00	\$13,500.00	\$13,500.00
2	DEMOBILIZATION	LSUM	1	\$2,500.00	\$2,500.00	\$11,000.00	\$11,000.00	\$7,500.00	\$7,500.00	\$100.00	\$100.00	\$100.00	\$1,500.00	\$1,500.00	\$13,500.00	\$13,500.00
3	INSURANCE	LSUM	1	\$8,000.00	\$8,000.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$0.00	\$0.00
4	CASH ALLOWANCE FOR ANY ADDITIONAL WORK REQUESTED AND APPROVED BY THE OWNER AND ENGINEER, AND NOT INCLUDED IN THE BASE SCOPE AND CONTRACT DOCUMENTS, IN ACCORDANCE WITH THE SPECIFICATIONS	LSUM	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	<b>5-YEAR WARRANTY</b> ON ALL MATERIALS, WORKMANSHIP AND LABOR FURNISHED BY THE CONTRACTOR	LSUM	1	\$2,500.00	\$2,500.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$0.00	\$0.00	\$5,000.00	\$5,000.00
6	PRE-CONSTRUCTION VIDEO TAPING OF MANHOLES (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR INSPECTION REPORTS/VIDEO RECORDINGS/PHOTOS (HARD COPY AND DIGITAL FORMAT), FLOW CONTROL, SITE RESTORATION, TRAFFIC CONTROL, AND OTHER INCIDENTAL WORK.)	EA	69	\$35.00	\$2,415.00	\$250.00	\$17,250.00	\$700.00	\$48,300.00	\$75.00	\$5,175.00	\$5,175.00	\$35.00	\$2,415.00	\$5.00	\$345.00
7	POST CONSTRUCTION VIDEO TAPING OF MANHOLES (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR INSPECTION REPORTS/VIDEO RECORDINGS/PHOTOS (HARD COPY AND DIGITAL FORMAT), FLOW CONTROL, SITE RESTORATION, TRAFFIC CONTROL, AND OTHER INCIDENTAL WORK.)	EA	69	\$60.00	\$4,140.00	\$250.00	\$17,250.00	\$700.00	\$48,300.00	\$60.00	\$4,140.00	\$4,140.00	\$60.00	\$4,140.00	\$5.00	\$345.00
8	MANHOLE LINING (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR CLEANING, ROOT REMOVAL, SURFACE PREPARATION, REPAIRING/SEALING OF ALL SURFACES IN MANHOLE, CHEMICAL GROUT, SEALANT, FURNISH AND INSTALL LINER SYSTEM, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, TESTING, TRAFFIC CONTROL, FLOW CONTROL, SITE RESTORATION, AND OTHER INCIDENTAL WORK.)	VF	339	\$260.00	\$88,140.00	\$220.00	\$74,580.00	\$310.00	\$105,090.00	\$175.00	\$57,750.00	\$59,325.00	\$215.00	\$72,885.00	\$385.00	\$130,515.00
9	INTERNAL CHIMNEY SEAL (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR CLEANING, SURFACE PREPARATION, ROOT REMOVAL, CHEMICAL GROUT, FURNISH AND INSTALL INTERNAL CHIMNEY SEAL, REPAIRING/SEALING OF ALL SURFACES IN MANHOLE, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, SEALANT, TESTING, TRAFFIC CONTROL AND OTHER INCIDENTAL WORK.)	EA	6	\$500.00	\$3,000.00	\$850.00	\$5,100.00	\$1,000.00	\$6,000.00	\$450.00	\$2,700.00	\$2,700.00	\$390.00	\$2,340.00	\$365.00	\$2,190.00
0	EXTERNAL CHIMNEY SEAL (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR CLEANING, SURFACE PREPARATION, REPAIRING/SEALING OF ALL SURFACES OF THE MANHOLE, FURNISH AND INSTALL EXTERNAL CHIMNEY SEAL, EXCAVATION AND DISPOSAL PAVEMENT AND DIRT, CHEMICAL GROUT, SEALANT, ROOT REMOVAL, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, TESTING, TRAFFIC CONTROL, SITE RESTORATION, AND OTHER INCIDENTAL WORK.)	EA	12	\$2,500.00	\$30,000.00	\$2,500.00	\$30,000.00	\$9,500.00	\$114,000.00	\$800.00	\$9,600.00	\$9,600.00	\$1,546.00	\$18,552.00	\$1,500.00	\$18,000.00
1	REPAIR BENCH/CHANNEL (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR REMOVAL AND DISPOSAL OF EXISTING BENCH/CHANNEL MATERIALS, SURFACE PREPARATION, CLEANING, ROOT REMOVAL, RESTORATION OF BENCH/CHANNEL, CHEMICAL GROUT, LINING SYSTEM, SEALANT, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, TRAFFIC CONTROL, SITE RESTORATION, TESTING, FLOW CONTROL, AND OTHER INCIDENTAL WORK.)	EA	5	\$500.00	\$2,500.00	\$2,000.00	\$10,000.00	\$1,000.00	\$5,000.00	\$600.00	\$3,000.00	\$3,000.00	\$627.00	\$3,135.00	\$450.00	\$2,250.00
12	GROUT AND WIPE JOINTS (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR REMOVAL OF EXISTING MATERIALS, SURFACE PREPARATION, CLEANING, REPAIRING/SEALING OF ALL SURFACES IN MANHOLE, CHEMICAL GROUT, ROOT REMOVAL, SEALANTS, BYPASS PUMPING, DEWATER, GROUNDWATER AND SURFACE WATER CONTROL, TRAFFIC CONTROL, SITE RESTORATION, TESTING, FLOW CONTROL, AND OTHER INCIDENTAL WORK.)	EA	21	\$500.00	\$10,500.00	\$600.00	\$12,600.00	\$500.00	\$10,500.00	\$350.00	\$7,140.00	\$7,350.00	\$750.00	\$15,750.00	\$300.00	\$6,300.00



BID TABULATION 2019 MANHOLE REHABILITATION CITY OF ST. CHARLES																
				52 Whe	S ESTIMATE eler Road re, IL 60554	314	DNSTRUCTION 12 Holeman er, IL 60475	NATIONAL POW 2500 W. A	VER RODDING CORP. Arthington Street	FRONT RANGE ENVIRONMENTAL LLC 2110 Wright Road McHenry, IL 60050			RMS UTILITY SERVICES 72 East Street Crystal Lake, IL 60014		CURLY CONTRACTING ,LLC 5 Industrial Park Drive, P.O.Box 29 Winchester, IN 47394	
ITEI NO		UNIT	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT (INITIAL BID)	AMOUNT (CORRECTED)	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	CURTAIN GROUT MANHOLE (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR REMOVAL OF EXISTING MATERIALS, SURFACE PREPARATION, CLEANING, REPAIRING/SEALING OF ALL SURFACES IN MANHOLE, CHEMICAL GROUT, ROOT REMOVAL, SEALANTS, BYPASS PUMPING, DEWATER, GROUNDWATER AND SURFACE WATER CONTROL, TRAFFIC CONTROL, SITE RESTORATION, TESTING, FLOW CONTROL, AND OTHER INCIDENTAL WORK.)	EA	30	\$500.00	\$15,000.00	\$1,700.00	\$51,000.00	\$750.00	\$22,500.00	\$800.00	\$24,000.00	\$24,000.00	\$650.00	\$19,500.00	\$1,750.00	\$52,500.00
14	INSTALL DROP (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR REMOVAL AND DISPOSAL OF EXISTING MANHOLE DROP, FURNISH AND INSTALL PVC MANHOLE DROP, CLEANING, SURFACE PREPARATION, REPAIRING/SEALING OF ALL SURFACES IN MANHOLE, CHEMICAL GROUT, ROOT REMOVAL, SEALANT, EXCAVATION AND DISPOSAL OF PAVEMENT/DIRT, CONCRETE, BACKFILL, MANHOLE MODIFICATIONS, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, TRAFFIC CONTROL, SITE RESTORATION, TESTING, FLOW CONTROL, AND OTHER INCIDENTAL WORK.)	EA	3	\$1,500.00	\$4,500.00	\$6,000.00	\$18,000.00	\$35,000.00	\$105,000.00	\$1,200.00	\$3,600.00	\$3,600.00	\$1,200.00	\$3,600.00	\$1,000.00	\$3,000.00
	BASIN WOR_WEST															
15	PRE-CONSTRUCTION VIDEO TAPING OF MANHOLES (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR INSPECTION REPORTS/VIDEO RECORDINGS/PHOTOS (HARD COPY AND DIGITAL FORMAT), FLOW CONTROL, SITE RESTORATION, TRAFFIC CONTROL, AND OTHER INCIDENTAL WORK.)	EA	61	\$35.00	\$2,135.00	\$250.00	\$15,250.00	\$700.00	\$42,700.00	\$75.00	\$4,575.00	\$4,575.00	\$35.00	\$2,135.00	\$5.00	\$305.00
16	POST CONSTRUCTION VIDEO TAPING OF MANHOLES (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR INSPECTION REPORTS/VIDEO RECORDINGS/PHOTOS (HARD COPY AND DIGITAL FORMAT), FLOW CONTROL, SITE RESTORATION, TRAFFIC CONTROL, AND OTHER INCIDENTAL WORK.)	EA	61	\$60.00	\$3,660.00	\$250.00	\$15,250.00	\$700.00	\$42,700.00	\$60.00	\$3,660.00	\$3,660.00	\$60.00	\$3,660.00	\$5.00	\$305.00
17	MANHOLE LINING (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR CLEANING, ROOT REMOVAL, SURFACE PREPARATION, REPAIRING/SEALING OF ALL SURFACES IN MANHOLE, CHEMICAL GROUT, SEALANT, FURNISH AND INSTALL LINER SYSTEM, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, TESTING, TRAFFIC CONTROL, FLOW CONTROL, SITE RESTORATION, AND OTHER INCIDENTAL WORK.)	VF	327	\$260.00	\$85,020.00	\$220.00	\$71,940.00	\$310.00	\$101,370.00	\$175.00	\$57,225.00	\$57,225.00	\$215.00	\$70,305.00	\$385.00	\$125,895.00
18	INTERNAL CHIMNEY SEAL (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR CLEANING, SURFACE PREPARATION, ROOT REMOVAL, CHEMICAL GROUT, FURNISH AND INSTALL INTERNAL CHIMNEY SEAL, REPAIRING/SEALING OF ALL SURFACES IN MANHOLE, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, SEALANT, TESTING, TRAFFIC CONTROL AND OTHER INCIDENTAL WORK.)	EA	16	\$500.00	\$8,000.00	\$850.00	\$13,600.00	\$1,000.00	\$16,000.00	\$450.00	\$450.00	\$7,200.00	\$390.00	\$6,240.00	\$365.00	\$5,840.00
19	EXTERNAL CHIMNEY SEAL (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR CLEANING, SURFACE PREPARATION, REPAIRING/SEALING OF ALL SURFACES OF THE MANHOLE, FURNISH AND INSTALL EXTERNAL CHIMNEY SEAL, ROOT REMOVAL, EXCAVATION AND DISPOSAL PAVEMENT AND DIRT, CHEMICAL GROUT, SEALANT, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, TESTING, TRAFFIC CONTROL, SITE RESTORATION, AND OTHER INCIDENTAL WORK.)	EA	1	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$9,500.00	\$9,500.00	\$800.00	\$800.00	\$800.00	\$1,359.00	\$1,359.00	\$1,500.00	\$1,500.00
20	REPAIR BENCH/CHANNEL (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR REMOVAL AND DISPOSAL OF EXISTING BENCH/CHANNEL MATERIALS, SURFACE PREPARATION, CLEANING, ROOT REMOVAL, RESTORATION OF BENCH/CHANNEL, CHEMICAL GROUT, LINING SYSTEM, SEALANT, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, TRAFFIC CONTROL, SITE RESTORATION, TESTING, FLOW CONTROL, AND OTHER INCIDENTAL WORK.)	EA	6	\$500.00	\$3,000.00	\$2,000.00	\$12,000.00	\$1,000.00	\$6,000.00	\$600.00	\$3,600.00	\$3,600.00	\$650.00	\$3,900.00	\$450.00	\$2,700.00
21	REPLACE BENCH/CHANNEL (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR REMOVAL AND DISPOSAL OF EXISTING BENCH/CHANNEL MATERIALS, SURFACE PREPARATION, ROOT REMOVAL, CLEANING, FURNISH AND INSTALL BENCH/CHANNEL, CHEMICAL GROUT, LINING SYSTEM, SEALANT, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, TRAFFIC CONTROL, SITE RESTORATION, TESTING, FLOW CONTROL, AND OTHER INCIDENTAL WORK.)	EA	1	\$1,500.00	\$1,500.00	\$2,009.00	\$2,009.00	\$2,000.00	\$2,000.00	\$1,200.00	\$1,200.00	\$1,200.00	\$850.00	\$850.00	\$450.00	\$450.00



BID TABULATION 2019 MANHOLE REHABILITATION CITY OF ST. CHARLES																
			52 Who	R'S ESTIMATE eeler Road ove, IL 60554	314	ONSTRUCTION 42 Holeman jer, IL 60475	NATIONAL POW 2500 W. A	ER RODDING CORP. thington Street p, IL 60612	FRONT RANGE ENVIRONMENTAL LLC 2110 Wright Road McHenry, IL 60050			72	ILITY SERVICES East Street Lake, IL 60014	CURLY CONTRACTING ,LLC 5 Industrial Park Drive, P.O.Box 29 Winchester, IN 47394		
ITEM NO. DESCRIPTION		UNIT	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT (INITIAL BID)	AMOUNT (CORRECTED)	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
RAISE/RESET FRAME (INCLUDES ALL LABOR, MATE EQUIPMENT, TOOLS AND INCIDENTALS FOR REMOMENTATION OF THE SURFACES, FURMOND PREMOVAL PAVEMENT OR OTHER SURFACES, FURMOND FRAME AND COVER, FURNISH AND INSECTION OF THE SURFACES, CHEMICAL OF THE SURFACE WATER CONTROL, TESTING, SITE TRAFFIC CONTROL, OTHER INCIDENTAL WORK.)	OVAL OF EXISTING D DISPOSAL RNISH AND INSTALL STALL INTERNAL AND ATIONS, GROUT, SEALANT, IG, GROUNDWATER RESTORATION,	EA	1	\$2,200.00	\$2,200.00	\$3,500.00	\$3,500.00	\$9,500.00	\$9,500.00	\$1,200.00	\$1,200.00	\$1,200.00	\$850.00	\$850.00	\$1,000.00	\$1,000.00
REPLACE MANHOLE COVER (INCLUDES ALL LABO EQUIPMENT, TOOLS AND INCIDENTALS FOR REMO MANHOLE COVER, ROOT REMOVAL, FURNISH AND MANHOLE COVER, AND OTHER INCIDENTAL WOR	OVAL OF EXISTING D INSTALL	EA	3	\$350.00	\$1,050.00	\$200.00	\$600.00	\$1,000.00	\$3,000.00	\$350.00	\$1,050.00	\$1,050.00	\$300.00	\$900.00	\$1,200.00	\$3,600.00
GROUT AND WIPE JOINTS (INCLUDES ALL LABOR EQUIPMENT, TOOLS AND INCIDENTALS FOR REMOMATERIALS, SURFACE PREPARATION, CLEANING REPAIRING/SEALING OF ALL SURFACES IN MANHOR GROUT, ROOT REMOVAL, SEALANTS, BYPASS PUR GROUNDWATER AND SURFACE WATER CONTROL CONTROL, SITE RESTORATION, TESTING, FLOW OTHER INCIDENTAL WORK.)	OVAL OF EXISTING i, OLE, CHEMICAL IMPING, DEWATER, IL, TRAFFIC	EA	20	\$500.00	\$10,000.00	\$600.00	\$12,000.00	\$500.00	\$10,000.00	\$350.00	\$7,000.00	\$7,000.00	\$750.00	\$15,000.00	\$300.00	\$6,000.00
CURTAIN GROUT MANHOLE (INCLUDES ALL LABO EQUIPMENT, TOOLS AND INCIDENTALS FOR REMO MATERIALS, SURFACE PREPARATION, CLEANING REPAIRING/SEALING OF ALL SURFACES IN MANHO GROUT, ROOT REMOVAL, SEALANTS, BYPASS PU GROUNDWATER AND SURFACE WATER CONTROL CONTROL, SITE RESTORATION, TESTING, FLOW O OTHER INCIDENTAL WORK.)	OVAL OF EXISTING i, OLE, CHEMICAL JMPING, DEWATER, oL, TRAFFIC	EA	14	\$350.00	\$4,900.00	\$1,500.00	\$21,000.00	\$750.00	\$10,500.00	\$800.00	\$11,200.00	\$11,200.00	\$650.00	\$9,100.00	\$1,750.00	\$24,500.00
CURTAIN GROUT MANHOLE (LOWER 4-FT) (INCLUMATERIALS, EQUIPMENT, TOOLS AND INCIDENTA OF EXISTING MATERIALS, SURFACE PREPARATION REPAIRING/SEALING OF ALL SURFACES IN MANHOR GROUT, ROOT REMOVAL, SEALANTS, BYPASS PUGROUNDWATER AND SURFACE WATER CONTROCONTROL, SITE RESTORATION, TESTING, FLOW OTHER INCIDENTAL WORK.)	LS FOR REMOVAL DN, CLEANING, OLE, CHEMICAL JMPING, DEWATER, DL, TRAFFIC	EA	16	\$500.00	\$8,000.00	\$1,000.00	\$16,000.00	\$500.00	\$8,000.00	\$450.00	\$7,200.00	\$7,200.00	\$400.00	\$6,400.00	\$875.00	\$14,000.00
INSTALL DROP (INCLUDES ALL LABOR, MATERIAL TOOLS AND INCIDENTALS FOR REMOVAL AND DISEXISTING MANHOLE DROP, FURNISH AND INSTAL DROP, CLEANING, SURFACE PREPARATION, REPARL SURFACES IN MANHOLE, CHEMICAL GROUT, SEALANT, EXCAVATION AND DISPOSAL OF PAVEN CONCRETE, BACKFILL, MANHOLE MODIFICATIONS PUMPING, DEWATERING, GROUNDWATER AND SICONTROL, TRAFFIC CONTROL, SITE RESTORATION CONTROL, AND OTHER INCIDENTAL WORK.)	SPOSAL OF LL PVC MANHOLE AIRING/SEALING OF ROOT REMOVAL, MENT/DIRT, S, BYPASS URFACE WATER	EA	1	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$35,000.00	\$35,000.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00
TOTAL UNIT A: FOR A	LL BASE BID ITEMS	(1 THR	OUGH 27)		\$325,160.00		\$484,929.00		\$798,460.00		\$232,565.00	\$241,100.00		\$289,216.00		\$444,540.00
"EXTRA" AS DIRECTED, MANHOLE LINING (INCLU MATERIALS, EQUIPMENT, TOOLS AND INCIDENTA ROOT REMOVAL, SURFACE PREPARATION, REPA ALL SURFACES IN MANHOLE, CHEMICAL GROUT, AND INSTALL LINER SYSTEM, BYPASS PUMPING, GROUNDWATER AND SURFACE WATER CONTROL TRAFFIC CONTROL, FLOW CONTROL, SITE RESTORTED	LS FOR CLEANING, IRING/SEALING OF SEALANT, FURNISH DEWATERING, DL, TESTING,	VS	50	\$260.00	\$13,000.00	\$300.00	\$15,000.00	\$500.00	\$25,000.00	\$175.00	\$8,750.00	\$8,750.00	\$215.00	\$10,750.00	\$385.00	\$19,250.00
"EXTRA" AS DIRECTED, INTERNAL CHIMNEY SEAL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTAL CHIMNES, SURFACE PREPARATION, ROOT REMOUSED FOR THE PROPERTY OF T	CIDENTALS FOR OVAL, CHEMICAL IEY SEAL, OLE, BYPASS URFACE WATER	EA	10	\$500.00	\$5,000.00	\$850.00	\$8,500.00	\$1,500.00	\$15,000.00	\$450.00	\$4,500.00	\$4,500.00	\$390.00	\$3,900.00	\$365.00	\$3,650.00



BID TABULATION 2019 MANHOLE REHABILITATION CITY OF ST. CHARLES													
	ENGINEER'S ESTIMATE 52 Wheeler Road Sugar Grove, IL 60554	3142	<b>NSTRUCTION</b> 2 Holeman er, IL 60475	2500 W. A	VER RODDING CORP. Arthington Street go, IL 60612	F	RONT RANGE ENVIRONMEN 2110 Wright Road McHenry, IL 60050	TAL LLC	72	LITY SERVICES East Street Lake, IL 60014	5 Industrial Par	ITRACTING ,LLC k Drive, P.O.Box 29 ster, IN 47394	
ITEM NO. DESCRIPTION UNIT QUANTITY	UNIT PRICE AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT (INITIAL BID)	AMOUNT (CORRECTED)	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
"EXTRA" AS DIRECTED, EXTERNAL CHIMNEY SEAL (INCLUDES ALL LABOR, MATERIALS, EQUIPMENT, TOOLS AND INCIDENTALS FOR CLEANING, SURFACE PREPARATION, REPAIRING/SEALING OF ALL SURFACES OF THE MANHOLE, FURNISH AND INSTALL EXTERNAL  3 CHIMNEY SEAL, EXCAVATION AND DISPOSAL PAVEMENT AND DIRT, CHEMICAL GROUT, SEALANT, BYPASS PUMPING, DEWATERING, GROUNDWATER AND SURFACE WATER CONTROL, TESTING, TRAFFIC CONTROL, SITE RESTORATION, AND OTHER INCIDENTAL WORK.)	\$2,500.00 \$25,000.00	\$2,800.00	\$28,000.00	\$9,500.00	\$95,000.00	\$800.00	\$8,000.00	\$8,000.00	\$1,546.00	\$15,460.00	\$1,500.00	\$15,000.00	
TOTAL UNIT B: FOR ALL SUPPLEMENTAL BID ITEMS (1 THROUGH 3)	\$43,000.00		\$51,500.00		\$135,000.00		\$21,250.00	\$21,250.00		\$30,110.00		\$37,900.00	
TOTAL (UNIT A + UNIT B)	\$368,160.00		\$536,429.00		\$933,460.00		\$253,815.00	\$262,350.00		\$319,326.00		\$482,440.00	
UNIT C: ALTERNATIVE BID ITEM													
(ADD TO BASE BID ITEM NO. 4) 10-YEAR WARRANTY ON ALL  1 MATERIALS, WORKMANSHIP AND LABOR FURNISHED BY THE  CONTRACTOR  1	\$5,000.00 \$5,000.00	\$15,000.00	\$15,000.00	\$50,000.00	\$50,000.00	\$2,500.00	\$2,500.00	\$2,500.00	\$0.00	\$0.00	\$5,000.00	\$5,000.00	
TOTAL UNIT C: FOR ALL ALTERNATIVE BID ITEM	\$5,000.00		\$15,000.00		\$50,000.00		\$2,500.00	\$2,500.00		\$0.00		\$5,000.00	
ALTERNATIVE TOTAL (UNIT A + UNIT B + UNIT C)	\$373,160.00		\$551,429.00		\$983,460.00		\$256,315.00	\$264,850.00		\$319,326.00		\$487,440.00	

LESSER THAN THE AMOUNT IN BID

ACTUAL TOTAL AMOUNT